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QuiZ DATE
i b i Chapter 1 NAME
1. Find the slope of the line determined by points A(—1, 3) 1.
and B(4, 7).
3 4 4 5 4
A) = . C) = D) = BY ~—
A) 7 B) 3 © 3 (D) (E) —<
2. Find an equation for the line through the point P(3, —2) 2.
that is perpendicular to the line 3x + 2y = 5.
2 3 5
= o = —— + —
(A) y=—3x B) y=—Jx+
s dg o =31
© y=3x—4 D) y=2x—7
B) y= —%x + 3
3.1 Age(weeks) | 2 |3]4]5] 6 3.
Weight (pounds) | 4.2 |6.3]7.1/9.2]10.5
The table shows the growth of a certain puppy.
Find the linear regression equation for the data. Use the
linear regression equation to estimate the weight of the
puppy at age 8 weeks, rounded to the nearest pound.
(A) 13 pounds (B) 14 pounds (C) 15 pounds
(D) 16 pounds (E) 17 pounds
4. Which of the following is an odd function? 4.
@) y=c-5" ®y=2+h ©y=x-Vx
D) y:2x3+4x (B y=n® « 2°
5. Draw the graph of the function. 5.
-—2’ x< 2 1 1 1 i 1 1 1
foy=42-2, -2=x<0
x—2, x=0 i
[4,4)by [-3,3]
6. Which of the following exponential expressions is 6.
equivalent to 2579
(A) 56,1‘ (B) 581’ (C) 5101’ (D) 512\‘ (E) 514x
7. Use a graph to solve the equation 37" = 7. 7.

(A) x~—233 (B) x=~~—177 (C) x=~056
(D) x = 1.77 (E) x =~2.33
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DATE

| Chapter 1 NAME

he parametrized curve givenbyx =1t — 2, 1.
+ V51, 0 = 1 = 4. Indicate the direction in which -
he curveis traced. L

(4, 41 by [-3, 3]

3~Find #Cartesian equation for a curve that contains the
trized curve given by
y=—-2+V5,0=r=4 2.

(a) y=—2+V5x+ 10 (B) y=—2+V5x
(0) y=—2+V5—10 (D) y=-2+Vx+2

(E) y=2—Vx+2
3. For f(x) = x> —3,x=0, ﬁndf”i(x). 3.

(A) flw=Vx+2 @) f )y =-Vx+3
(@ F ="V~ 3 @) f~ i) =-Vx—13
E) fl=3-x

Let fig) = ¢* ~ ', 0 = x = 3. Which of the following is 4,
ametrization for the graph of y = f~ Lx)?

y xxty=¢e"Lo=:=3
(B)x=t,y:1+lnt,05ts3
(C)x=e’—l,y=t,05r53
(D) x=1+hnt,y=1t,0=t=3
(EB) x=t,y=e,0=t=3

5. Solve the equation 4* + 47" = % algebraically. 5
- — l = ——l el l
(A) x=7 (B) x >*73
© x=-1x=1 (D)x:*%,.x:(),x:%

(E) x=—-1,x=0,x=1

6. Solve the equation sec x = /2 in the interval 0 =< x =< 2. 6.
&) x=-Tx=7 ®) x=Tx=2
© x=Tx= @) x=2,5=T
T T
E) x= L x=-2
(EB) x="px==
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TEST DATE

“ Chapter 1 NAME

Directions: Show all steps leading to your answers, including any intermediate results obtained using a
graphing utility. Use the back of the test or another sheet of paper if necessary.

1. Find the slope of the line determined by points A(8, —2) 1.
and B(2, 7).
2 2 3 3
A) = B) —= = D) -2 (E) -2
Wi ®-5 ©F O35 ®
2. Let L represent the line y = %x + 7. Write an equation 2. (a)
for the line through P(6, —4) that is (a) parallel to L, (b)
(b) perpendicular to L.
3. For the function y = 5 — V9 — 12, (a) find the domain, 3. (a)
(b) find the range, and (c) determine whether the function (b)
is odd, even or neither. ()
; —0.5x, x< -2
4. Let f(x) = Vit 2a=—-2 4. (a) [
(a) Draw the graph of f(x). i
(b) Find the domain. A ——— e
(c) Find the range. i
[4, 4] by [-3, 3]
(b)
(©
5. Let f(x) = x> + 5 and g(x) = . 5. (a)
X
Find formulas for (a) fe g and (b) g ° f. (b)
6. State the domain, range, and intercepts of the function 6. Domain:
y=27"-1 Range:
x-intercept(s):
y-intercept(s):
7. Use a graph to solve the equation 4 — 3* = 0. T
8. Suppose that in any given year, the population of a certain 8.

endangered species is reduced by 25%. If the population

is now 7500, in how many years will the population
be 40007

nd a parametrization for the left half of the parabola 9.
& A +3.
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n Chapfer 1 (continueq)

NAME

aph the parametrized curve described by
sint,y = —3cost,0 == . Indicate the
direction in which the curve is traced.

(b)~Kind A Cartesian equation for the parametrized curve.
W ortion of the graph of the Cartesian equation
isfAraced by the parametrized curve?

11. Let f(x) = \/3 x+2andg(x) =x> —2.
Which of the following are true?

L gx)y=f" I(x) for all real values of x.

IL. (fe g)(x) = 1 for all real values of x.
III. The function f'is one-to-one.

(A) Tand I (B) Iand III (C) II and III
(D) I only (E) L 1II, and IIT

12. Let f(x) = V3 — x.
Find an expression for f~!(x).
(Be sure to state any necessary domain restrictions.)

13. The table gives Taiwan’s nuclear power generation
data in billions of kilowatt-hours. Let x = 5 represent
1980, x = 10 represent 1985, and so on.

Year 1980 1985|1990 | 1995
Energy produced | 7.8 | 27.8 | 31.6 | 33.9

(a) Find a natural logarithm regression equation for
the data.

(b) Predict when Taiwan’s nuclear power
generation will reach 40 billion kilowatt-hours.

14. An angle measuring égi radians has its vertex at the center
of a circle whose radius is 4 feet. Find the length of the

subtended arc.

15, Lety = 3 sin (2x — ) + 2. Determine the period,
domain, and range of the function.

16. Solve the equation cot x = 4 in the interval 0 =< x < 2.

4  Calculus Assessment

10. (a)

[, 4] by [-3,3]

(b)

11.

12.

13. (a)
(b)

14.

15. Period:
Domain:

Range:

16.
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TEST

m)hapter 1

Directions: Show all steps leading to your answers, including any intermediate results obtained using a
graphing utility. Use the back of the test or another sheet of paper if necessary.

1.

Let f(x) =

. Letf(x) =

DATE

NAME

Find the slope of the line determined by points P(—3, 7)
and O(1, 13).

2 2 3 3
A 3 B -3 ©7 O -5 (B 2

. Let L represent the line y = —%x + 2. Write an equation

for the line through P(9, —7) that is (a) parallel to L,
(b) perpendicular to L.

. For the function y = —2 + Vx? — 25, (a) find the domain,
(b) find the range, and (c) determine whether the function

is odd, even or neither.
V1—x, x=1
05x —2,x>1
(a) Draw the graph of g(x).
(b) Find the domain.

(c) Find the range.

1
% 2
Find formulas for (a) fo g and (b) g o f.

and g(x) = 5x°.

. State the domain, range, and intercepts of the function

=G BB,

. Use a graph to solve the equation 27" — 6 = 0.

. Suppose that in any given year, the value of a certain

investment is increased by 15%. If the value is now
$15,000, in how many years will the value be $21,0007

parametrization for the right half of the parabola
6x — 7.

© Addison Wesley Longman, Inc.
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2. (a)

(b)

3. (a)

(b)

(c)

4. (a)

(b)

[4, 4] by [3, 3]

(c)

5. (a)

(b)

6. Domain:

Range:

x-intercept(s):
y-intercept(s):
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B Cha ptei" 1 (continued) NAME

the parametrized curve described by 10. (a)
x =7&gos 1, y = —sin t, 0 = ¢t = 7. Indicate the -
digection in which the curve is traced.

(-4, 4] by [-3,3]

(b) Cartesian equation for the parametrized curve. (b)
Wh rtion of the graph of the Cartesian equation

is traced by the parametrized curve?

1 1
11. Let f(x) = Z g x> 0,and g(x) = }I - 2. 11.

Which of the following are true?

L gly)y=f" l(Jc) for all real values of x.
1L (g e f)x) = xforall x = 0.
ITI. The function fis one-to-one.
(A) Tand II (B) Tand Il (C) I and 111
(D) LI only (E) I, 1I, and III

12. Let f(x) = —Vx + 5. 12. } |

Find an expression for f ~(x).
(Be sure to state any necessary domain restrictions.)

13. The table gives Sweden’s nuclear power generation 13. (a)
data in billions of kilowatt-hours. Let x = 5 represent (b)
1980, x = 10 represent 1985, and so on.

Year 1980 1985|1990 | 1995
Energy produced | 25.3 | 55.8 | 65.2 | 66.5

(a) Find a natural logarithm regression equation for
the data.

(b) Predict when Sweden’s nuclear power
generation will reach 85 billion kilowatt-hours.

14. An angle measuring 5?77 radians has its vertex at the center 14.
of a circle whose radius is 7 meters. Find the length of the

subtended arc.

15. Lety =15 tan(x + g) — 3. Determine the period, 15. Period:
domain, and range of the function. Domain:
Range: j
16. Solve the equation sec x = —3 in the interval 0 = x = 2. 16.
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Chapter 1

Assessment

Answers

Quiz: Sections 1.1-1.3

1. (C)
3. (B)

5. I\l :%
v

(-4, 4] by [-3, 3]
6. (B)

Quiz: Sections 1.4-1.6

1.
L
[-4. 4] by [-3, 3]
2. (A)
4.(C)
6. (E)

Chapter 1 Test Form A
1. (D)
2.(a)y=%xfE

S
3.(a)[—3,3]
(c) Even

116  Assessment Answers

2. (C)
4. (D)

7. (B)

3.(B)
5. (B)

(b) y=—x+6
(b) [2,5]

§
4. (a) B
\/-
(4, 4] by [-3, 3]
(b) (—o0, ) (c) [0,®)
2
5. (@) (fo 2)(x) = (l) +50r L +5
X X
(b) (g2 /) = =
6. Domain: (—, «) g

Range: (—1, =)
x-intercept: 0
y-intercept: O
7.x~=1.262 8. About 2.19 years
9. One possible answer: x =1,y = 2 — 4t + 3,
=2
10. (a)

Y

(4, 4] by [3,3]

x\2 y s . .
(b) (E) + (g) = [; right half of ellipse
11. (B)
12.F 7' =3—-xLx=0

13. (a) y = —20.524 + 19.051 In x
(b) x = 23.971 or about 24, in 1999

14. %T ft or about 4.71 ft

15. Period: 7r; Domain: All reals; Range: [—1, 5] 7
16. x = tan_1(0.25) = 0.245, ¢
x = a7 + tan” 1(0.25) = 3.387
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Chapter 1 Test Form B
1. (C)

4 5 55

o = ——x + —_ Ty — —

2.(a)y 3x 5 ) v 4x 4

3. (a) (—, =5] U [5, %)
() [—2, ) (¢) Even

|

[-4, 4] by [-3, 3]

(b) (=, ®) () 1.3,
_ 1
5.(a) (feg)x) = ————szs_ 5
(b) (D = =57
6. Domain: (—o, ®)
Range: (—%,9)

x-intercept: 2
y-intercept: 8

7, 5 =058 8. About 2.41 years
9. One possible answer: x =1,y = 2+ 6t—17,
r=-3
10. (a) r i 4\
1 1 1 N 1 ] 1
| S

4, 4] by [-3, 3]

2
(b) (%) + y2 = 1; lower half of ellipse
11. (C)
1.5 ) = —5,5=0

13. (a) y = —20.907 + 30.827 Inx
(b) x=31.050r about 31, in 2006

14. 15(—53 m or about 18.33 m

15. Period: 7r; Domain: x # kT for integers k;
Range: All reals

16. x = cos*l(—é) ~ 1911,

T cos*l(—% 4T3
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